Using the Henderson-Hasselbalch Equation

1. A 1.00L buffer solution is prepared that contains 0.150M
nitrous acid and 0.200M sodium nitrite. What is its pH?
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Using the Henderson-Hasselbalch Equation

1. A 1.00L buffer solution is prepared that contains 0.150M
nitrous acid and 0.200M sodium nitrite. What is its pH?
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Using the Henderson-Hasselbalch Equation

2. How many grams of sodium lactate (CH;CH(OH)COONa)

should be added to 1.0L of a 0.150M lactic acid
(CH;CH(OH)COOH) to form a buffer solution with

oH=4.007

Ky = 1.4x10% molar mass of sodium lactate = 112.1g/mol
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Buffer calculations " ol .

Br = ’79 G04 qlmol

1. A 1.0 L buffer solution contains 0.150 M nitroustacid™
and 0.200 M sodium nitrite. K,=7.2x10* (a) What is\the pH
of the buffer? (b) What is the pH after adding 1.00 g \HBr?
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Buffer calculations

2. A buffer is made by adding 0.600 mol CH;COOH and
0.600 mol CH;COONa to enough water to make 2.00L of

solution. K, = 1.8x10>.

(a) What is the pH of the buffer?@
(b) Calculate the pH after 0.040 mol HCl is added. A: 4.69

(c) Calculate the pH after 0.040 mol NaOH is added. A: 4.80
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Buffer calculations

2. A buffer is made by adding 0.600 mol CH;COOH and

0.600 mol CH;COONa to enough water to make 2.00L of
solution. K, = 1.8x107. = 4.9y4n =pke

(@) What is the pH of the buffer? a: 4.74

(b) Calculate the pH after 0.040 mol HCl is added. A: 4.69
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Buffer calculations

2. A buffer is made by adding 0.600 mol CH;COOH and
0.600 mol CH;COONa to enough water to make 2.00L of
solution. K, =1.8x10>. pka= 41447

(a) What is the pH of the buffer? a: 4.74

(c) Calculate the pH after 0.040 mol NaOH is added. A: 4.80
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Strong Acid/Strong Base Calculations

In the titration of 25.0mL of 0.100M KOH with 0.100M
HNO;, determine the pH:
(a) At the start of the titration (no acid added) A:13.0
(b) When 24.9mL acid has been added A: 10.3
(c) When 25.1mL acid has been added A: 3.7
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Weak Acid/Strong Base Calculations

35.0mL of 0.150M CH;COOH (K, = 1.8x10°) was titrated
with 0.150M NaOH. Determine the pH:

a.) At the start of the titration A: 2.73
b.) When 20.0mL of 0.150M NaOH has been added ~:4.87

c.) At the equivalence point A: 8.81
d.) When 50.0mL of 0.150M NaOH has been added A: 12.42
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Weak Acid/Strong Base Calculations

35.0mL of 0.150M CH3;COOH (K, = 1.8x10°) was titrated
with 0.150M NaOH. Determine the pH:
b.) When 20.0mL of 0.150M NaOH has been added A:4.87
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Weak Acid/Strong Base Calculations

35.0mL of 0.150M CH3;COOH (K, = 1.8x107) was titrated
with 0.150M NaOH. Determine the pH:

c.) At the equivalence point A: 8.81  CthOH +Nai > CH,CC0™ + KO
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Weak Acid/Strong Base Calculations

35.0mL of 0.150M CH;COOH (K, = 1.8x103) was titrated
with 0.150M NaOH. Determine the pH:
d.) When 50.0mL of 0.150M NaOH has been added A: 12.42
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